1)XA3 - yA3 = xA3+yx 2+xyN2-yx"2-xyr2-y"3 = X(X 2+yx+y 2) -y( X 2+xy+y"2) = (X 2+yx+y*2) (x-y)

2)x"2 - 2xy +y"2 = x"2-xy-xy+y"2 = X(X-y) -y(x-y) = (X-y) (x-y) = (x-y)"2

3)x"2-35x+300= x*2-15x-20x+300= x(x-15) -20(x-15) = (x-15) (x-20)

4)2yz+x12 -2Xy -2Xz+y"2+7z72= yz+yz-Xy-XYy-XZ-XZ+X"2+yr2+Z"2 = xN2-Xy-XZ + yr2+yz-Xy + z72+yz-XxZ = -X(-X+y+Zz) + y(y+z-X) + z(z+y-x)= (y+z-X) (-x+y+z) = (y+z-x)"2
5)xA3+3xy"2-3x"2y-y*3= x"3+xy 2+xy"r2+xy2-x 2y-x"2y-x 2y-y 3=

XA3-xA2y -y 3+xy"2 +xy"2-xA2y +xyr2-x"2y =

XP2(x-y) +y"2(-y+x) -xy(-y+X) -Xy(-y+x) = (X-y) (x"2+y"2-xy-xy)

(x=y) (X(x-y) -y(-y+x)) = (x-y) (x-y) (x-y) = (x-y)*3

noackKaska

XA2 - Y2 = xP24Xy-Xy-y*2 = X(X+Y) -y(X+Y) = (X+Y) (X-Y)

a2 - b2 =(a+b) (a-b)

X\242xy4y"2= X2 Xy +XY Y2 = X(x4Y) HY(xHy) = (xHy) (cty) = (xaypr2 T
a’2+2ab+b*2=(a+b)"2

- b*"2 4+ 2bc + a”"2 - c¢c*2 = -b"2+bct+bc+at2-ct2 =
-b (b+c) -c(c+b) +a”2 = (b+c) (-b-c) +a"2 =
-1 (b+c) (b+c) +a”2 = -1 (b+c) "2 +a”2 =

=a”2 - (b+c) "2= (at+tb+c) (a-(bt+tc))=
= (atb+c) (a-b-c)

XM+ xMN2y72 4+ YN = (X7M2)702 + X122 +(yh2)n2 =
(XN2) "24XN2YN2HXN2yN2=XN2y N2+ (yh2) N2 = (XN2) N242xX7M2yN 2+ (yh2) N2 =xXN2yN2 = (XN24yN2) N2 =xN2yh2 =
(XN24y72) "2-(xXy) "2 = (XM24y72+xy) (X72+y"2-xY)
NOEWN
axtay-bx-by=a (x+y) -b(x+y)=(x+y) (a-b) 1ﬂ oew rpynnupoBku
Pactawmtb

2.
3. [NobaButb - BbIMECTb
4. T[NpumeHeHne dopmyn

15xa-5xb - 2lya+7yb = 5x(3a-b) -7y (3a-b) = (3a-b) (5x-7y)

25x72 - 30xy +9y"2 =(5x)"2 -2*15xy+ (3y)"2=(5x)"2 -2*5x*3y+ (3y) "2=
(5x-3y) ~2



